STUDIA MATHEMATICA, T. XLIV. (1972)

References

 R. A. Askey and R. P. Boas Jr., Fourier coefficients of positive functions, Math. Zeitsch. 100 (1967), pp. 373-379.

[2] M. S. Baouendi and C. Gaulauic Commutation de l'intersection et des foncteurs d'interpolation, C.R.A.S. Paris, 265 (1967), pp. 313-315.

31 R. P. Boas Jr. Integrability theorems for trigonometric transforms 1967.

 4] - Fourier series with positive coefficients, Jr. Math. Anal. and App. 17 (1967), pp. 463-483.

5] J. Peetre, On an interpolation theorem of Foias and Lions, Acta Sci. Math. 25 (1964), pp. 255-261.

[6] Y. Sagher, Interpolation of r-Banach spaces, Studia Math., 41 (1972), pp. 45-70.

[7] — An application of interpolation theory to Fourier series, Studia Math. 41 (1972), pp. 169-181.

 [8] Ê. M. Stein, Interpolation in polynomial classes and Markoff's inequality, Duke Math. Jr. 24 (1957), pp. 467-476.

 [9] - and G. Weiss Interpolation of operators with change of measures, Trans. Am. Math. Soc. 87 (1958), pp. 159-172.

[10] A. Zygmund, Trigonometric Series, 2nd Edition. Cambridge, 1968.

ARROLD BUILDING BUILDING SAND

DEPARTMENT OF PURE MATHEMATICS WEIZMANN INSTITUTE OF SCIENCE REHOVOT, ISRAEL.

Received July 20, 1971

(363)

Singular integrals and spherical convergence

b.

VICTOR L. SHAPIRO* (Riverside, Calif.)

Dedicated to Professor Antoni Zygmund on the occasion of his 50th year of mathematical publication

Abstract. With K(x) designating a spherical harmonic kernel of Calderón-Zygmund type and letting f(x) be in L^1 on the N-torus, this paper studies the connection between the convergence of the singular integral $\int f(x-y)K(y)\,dy$ and the spherical convergence of the multiple trigonometric series $\sum f^*(m)K^*(m)e^{\delta(m,x)}$.

1. Introduction. Let f(x) be a real-valued 2π -periodic function in $L^1[-\pi,\pi)$, and for m an integer, set $f^{\hat{}}(m)=(2\pi)^{-1}\int\limits_{-\pi}^{\pi}f(x)e^{-imx}dx$. Also, let $K(x)=x^{-1}$, and let $K^{\hat{}}(x)$ designate its principal-valued Fourier transform. In particular, $K^{\hat{}}(0)=0$, and $K^{\hat{}}(m)=-i(\operatorname{sgn} m)/2$. Suppose that at a fixed point x^0 , there exists a positive constant A such that for $m\neq 0$

(1.1)
$$f(m)K(m)e^{imx^0} + f(-m)K(-m)e^{imx^0} \ge -A/|m|$$
.

Then Hardy and Littlewood showed in [3] that a necessary and sufficient condition that

(1.2)
$$\lim_{R\to\infty}\sum_{|m|\leqslant R}f^{\hat{}}(m)K^{\hat{}}(m)e^{imx^0}=\alpha,$$

where α is finite-valued, is that

$$(1.3) \qquad \left[\lim_{R\to\infty}(2\pi)^{-1}\int\limits_{\varepsilon\leqslant|x|\leqslant R}f(x^0-x)K(x)dx\right]\to\alpha\quad\text{as }\varepsilon\to0\,.$$

Motivated by our recent paper [4], we intend to show here that a similar situation prevails in Euclidean N-space, E_N , $N \ge 2$, when K(x) is a spherical harmonic kernel of the Calderón–Zygmund type.

From now on $x=(x_1,\ldots,x_N)$, $(x,y)=x_1y_1+\ldots+x_Ny_N$, $T_N=\{x\colon -\pi\leqslant x_i<\pi,\ j=1,\ldots,N\}$ and

(1.4)
$$f(m) = (2\pi)^{-N} \int_{T_N} f(x) e^{-i(m,x)} dx$$

^{*}This research was partially supported by the Air Force Office of Scientific Research, Office of Aerospace Research, USAF, under Grant No. AFOSR 69-1689.

where m is an integral lattice point and f is a real-valued periodic function of period 2π in each variable which is in $L^1(T_N)$.

 $P_n(x)$ is called a spherical harmonic of order $n, n \ge 1$, if $P_n(x)$ is an homogeneous polynomial of degree n which is harmonic in E_N . If $K(x) = P_n(x)/|x|^{N+n}$, K(x) is called a spherical harmonic kernel of Calderón–Zygmund type. Throughout this paper, K(x) will designate a kernel of this type. $K^{\hat{}}(y)$ will designate the principal-valued Fourier transform of K, i.e., with $B(y, R) = \{x: |x-y| < R\}$,

$$K^{\hat{}}(y) = \lim_{\epsilon \to 0} \lim_{R \to \infty} (2\pi)^{-N} \int_{B(0,R)-B(0,\epsilon)} K(x) e^{-i(x,y)} dx.$$

In particular, we have that

$$\mathbf{K}^{\hat{}}(0) = 0$$

and from ([5], p. 69) that

(1.6)
$$K^{\hat{}}(m) = \gamma(n, N)P_n(m/|m|) \quad \text{for } m \neq 0$$

where $\gamma(n, N) = (-i)^n \Gamma(n/2)/2^N \Gamma((n+N)/2) \pi^{N/2}$.

We note also that f real-valued implies that $[f^{\hat{}}(m)K^{\hat{}}(m)e^{i(m,x)} + f^{\hat{}}(-m)K^{\hat{}}(-m)e^{-i(m,x)}]$ is real valued. Consequently, we see that an N-dimensional version of (1.1) is the following:

There exists a positive constant A such that for $m \neq 0$

$$(1.7) f^{\hat{}}(m)K^{\hat{}}(m)e^{i(m,x^0)} + f^{\hat{}}(-m)K^{\hat{}}(-m)e^{-i(m,x^0)} \geqslant -A/|m|^N$$

Using (1.7), we intend to establish the following N-dimensional generalization of the Hardy-Littlewood result:

THEOREM 1. Let f(x) be a real-valued function which is of period 2π in each variable and which is in $L^1(T_N)$. Let K(x) be a spherical harmonic kernel of Calderón–Zygmund type. Suppose that the condition (1.7) holds at x^0 . Then a necessary and sufficient condition that

$$\lim_{R\to\infty}\sum_{|m|\leqslant R}f^{\hat{}}(m)K^{\hat{}}(m)e^{i(m,x^0)}=\alpha$$

where a is finite-valued is that

$$\left[\lim_{R\to\infty}(2\pi)^{-N}\int\limits_{B(0,R)-B(0,\varepsilon)}f(x^0-x)K(x)\,dx\right]\to \alpha \qquad as \ \ \varepsilon\to 0\,.$$

Comparing (1.2) and (1.3) with the corresponding statements in the above theorem, we see that this theorem is indeed an N-dimensional generalization of the Hardy-Littlewood result.

It turns out that condition (1.7) actually is not needed to establish the necessary condition of the above theorem. In particular, we shall establish the following result:



THEOREM 2. Let f(x) and K(x) be as in the hypothesis of Theorem 1 (with condition (1.7) not assumed. Suppose that

$$\lim_{R\to\infty}\sum_{|m|\leqslant R}f^{\hat{}}(m)K^{\hat{}}(m)e^{i(m,x^0)}=a$$

where a is finite-valued. Then

$$\left[\lim_{R\to\infty}(2\pi)^{-N}\int\limits_{B(0,R)-B(0,\varepsilon)}f(x^0-x)K(x)dx\right]\to \alpha \quad \text{ as } \varepsilon\to 0\,.$$

2. Proof of Theorem 2. With no loss in generality, we can assume $x^0=0$ and $f^{\hat{}}(0)=0$. Also, since Theorem 2 is true in the special case when f is a trigonometric polynomial (see [5], pp. 44–45) we can assume with no loss in generality that $\alpha=0$. Consequently with $K(x)=P_n(x)/|x|^{n+N}$ for $x\neq 0$, it follows from (1.6) that

(2.1)
$$\lim_{R\to\infty} \sum_{1\leq |m|\leq R} f^{\hat{}}(m) P_n(m/|m|) = 0.$$

Next, we set for t > 0, n a positive integer, and r = (N-2)/2,

(2.2)
$$\chi_{n,r}(t) = \int_{t}^{\infty} J_{r+n}(r)/r^{r+1} dr$$

where $J_{r+n}(r)$ is the familiar Bessel function of the first kind of order r+n.

For R > 0, we set

$$S(R) = \sum_{0 < |m| \le R} f(m) P_n(m/|m|)$$

and observe that for R > 1

$$\begin{split} \sum_{1 \leq |m| \leq R} f^{\hat{}}(m) P_n(m/|m|) \, \chi_{n,r}(|m|t) &= \int_0^R \chi_{n,r}(rt) \, dS(r) \\ &= S(R) \, \chi_{n,r}(Rt) + t^{-r} \int_0^R S(r) J_{r+n}(rt) \, r^{-(r+1)} \, dr \, . \end{split}$$

Since $\chi_{n,\bullet}(t)$ is bounded on the interval $(0, \infty)$, it follows from this last computation and from (2.1), (2.3), and well-known properties of Bessel functions that for t>0

$$\begin{split} (2.4) & & \lim_{R \to \infty} \sum_{1 \leqslant |m| \leqslant R} f^{\hat{}}(m) P_n(m/|m|) \, \chi_{n,r}(|m|\, t) \\ & = t^{-r} \int\limits_0^\infty \, S(r) J_{r+n}(rt) \, r^{-(r+1)} \, dr \, . \end{split}$$

Next we set for s > 0,

(2.5)
$$f(x,s) = \sum_{m} f^{(m)} e^{i(m,x)} e^{-|m|s}.$$

It follows from well-known facts (see [6], p. 56) that

$$(2.6) \quad \lim_{s \to 0} \int\limits_{B(0,R) - B(0,s)} |f(x,s) - f(x)| \, dr = 0 \quad \text{ for } 0 < \varepsilon < R < \infty.$$

Observing that the series in (2.5) is absolutely convergent, we have using ([7], p. 368) and ([5], p. 5) that

V. L. Shapiro

$$(2\pi)^{-N/2} \int_{B(0,R)-B(0,\varepsilon)} f(-x,s) K(x) dx$$

$$= (-i)^n \sum_{m \neq 0} f^{\hat{}}(m) P_n(m/|m|) e^{-|m|s} [\chi_{n,\nu}(|m|\varepsilon) - \chi_{n,\nu}(|m|R)].$$

Next, we set

(2.8)
$$g(t) = \lim_{R \to \infty} (-i)^n \sum_{1 \le |m| \le R} f(m) P_n(m/|m|) \chi_{n,\nu}(|m|t)$$

and observe from (2.4) that g(t) is well-defined and finite for t > 0. Passing to the limit as $s \to 0$ in (2.7), we obtain from (2.6) and (2.8) that

$$(2\pi)^{-N/2} \int_{B(0,R)-B(0,\epsilon)} f(-x)K(x)dx = g(\epsilon)-g(R).$$

Now from (2.4) and (2.8) and the fact that $S(R) \to 0$ as $R \to \infty$, we have that

$$|g(R)| \leqslant cR^{-(\nu+1/2)}$$

where c is a constant.

We conclude from (2.9) and (2.10)

(2.11)
$$\lim_{R\to\infty} (2\pi)^{-N/2} \int_{R(0,R)-R(0,\varepsilon)} f(-x)K(x) dr = g(\varepsilon).$$

It follows from (2.4), (2.8), and (2.11) that the proof of the theorem will be complete if we show

(2.12)
$$\lim_{t\to 0} t^{-r} \int_{0}^{\infty} S(r) J_{r+n}(rt) r^{-(r+1)} dr = 0.$$

To establish (2.12), we recall that S(r) = o(1) as $r \to \infty$. Next, we note since $n \ge 1$, that $|J_{r+n}(s)| \le cs^{r+1}$ for $0 < s \le 1$ where c is a constant. Consequently,

$$(2.13) \quad \left|t^{-r}\int\limits_{1}^{1/t}S(r)J_{r+n}(rt)r^{-(r+1)}dr\right| \leqslant t\int\limits_{1}^{1/t}o(1)dr = o(1) \quad \text{ as } t\to 0\,.$$

Also

$$\begin{split} (2.14) \quad t^{-r} \Big| \int\limits_{1/t}^{\infty} \mathcal{S}(r) J_{r+n}(rt) r^{-(r+1)} dr \Big| \\ &\leqslant t^{-(r+1/2)} \int\limits_{1/t}^{\infty} o(1) r^{-(r+3/2)} dr = o(1) \qquad \text{as } t \to 0 \,. \end{split}$$

(2.12) follows immediately from (2.13) and (2.14), and the proof to the theorem is complete.

Before passing on to the next section, we would like to point out that a close look at the proof just given will show that in dimension $N \geqslant 4$, spherical convergence can be replaced by higher orders of Bochner-Riesz summability, (see [6], p. 49). For example in dimension 4, Bochner-Riesz summability of order 1 will work. We shall deal with this and related matter in a subsequent paper.

3. Proof of the sufficiency condition of Theorem 1. We first need the following Tauberian lemma:

LEMMA 1. Suppose that for $m \neq 0$, a_m is real-valued and that $a_m = 0 \, (m^j)$ as $|m| \to \infty$ for some non-negative integer j. Suppose furthermore that there exists a positive constant A such that $a_m \geqslant -A/|m|^N$ for $m \neq 0$. For t > 0, set $I(t) = \sum_{m \neq 0} a_m e^{-|m|^t}$ and suppose also that $\lim_{t \to 0} I(t) = a$ where a is finite-valued. Then $\lim_{R \to \infty} \sum_{1 \leqslant |m| \leqslant R} a_m = a$.

To establish the above lemma, with no loss in generality we can assume A=1. Consequently, we have

(3.1)
$$I(t) \text{ is in } \operatorname{class} C^{\infty} \quad \text{for } t > 0;$$

$$\lim_{t \to 0} I(t) = \alpha;$$

(3.3)
$$d^2 I(t)/dt^2 \geqslant -\sum_{m\neq 0} e^{-|m|t}/|m|^{N-2} \quad \text{ for } t>0.$$

Next, we observe from the familiar Poisson summation formula ([1], p. 32), that for t>0

(3.4)
$$\sum_{m} e^{-|m|t} = B_N \sum_{m} t [t^2 + |2\pi m|^2]^{-(N+1)/2}$$

where B_N is a constant. It follows from (3.4) and L'Hospital's rule that

(3.5)
$$\lim_{t\to 0}t^2\sum_{m\neq 0}e^{-|m|t}/|m|^{N-2} \quad \text{exists and is finite.}$$

We consequently have from (3.3) and (3.5) that there is a positive constant B'_{N} such that

(3.6)
$$d^2 I(t)/dt^2 \geqslant -B'_N t^{-2} \quad 0 < t < 1.$$

But then it follows from (3.1), (3.2), (3.6) and ([2], p. 158) that

$$\lim_{t \to 0} t dI(t)/dt = 0.$$

Since A = 1, we have by hypothesis

(3.8)
$$|m| a_m + |m|^{-(N-1)} \ge 0$$
 for $m \ne 0$.

Also, we have from the (3.5) and L'Hospital's rule that there is a constant β_N such that

(3.9)
$$\lim_{t \to 0} t \sum_{m \neq 0} e^{-|m|t}/|m|^{N-1} = \beta_N.$$

For R>0, set $S_1(R)=\sum\limits_{0<|m|\leqslant R}|m|a_m+|m|^{-(N-1)}$ and $S_2(R)=\sum\limits_{0<|m|\leqslant R}|m|^{-(N-1)}$. Then we observe from (3.9) that

(3.10)
$$\lim_{t\to 0} t \int_{0}^{\infty} e^{-rt} dS_2(r) = \beta_N$$

and from (3.7) and (3.9) that

(3.11)
$$\lim_{t\to 0} t \int_0^\infty e^{-rt} dS_1(r) = \beta_N.$$

Consequently, it follows from (3.10) and ([2], p. 156 that

(3.12)
$$R^{-1} \sum_{0 \le |m| \le R} |m|^{-N-1} \to \beta_N \quad \text{as } R \to \infty$$

and from (3.8), (3.11), and ([2], p. 156) that

$$(3.13) \hspace{1cm} R^{-1} \sum_{0 \leq |m| \leq R} |m| \, a_m + |m|^{-(N-1)} \to \beta_N \hspace{0.5cm} \text{as } R \to \infty.$$

We conclude from (3.12) and (3.13) that

(3.14)
$$\lim_{R \to \infty} R^{-1} \sum_{1 \le |m| \le R} |m| a_m = 0.$$

Next, we set $S_3(R)=\sum\limits_{0<|m|\leqslant R}|m|\,a_m,$ for R>0 and observe that $\sum_{0<|m|\leqslant R}a_m[1-e^{-|m|t}]$

$$=R^{-1}S_3(R)[1-e^{-Rt}]-t\int\limits_1^RS_3(r)\,e^{-rt}r^{-1}dr+\int\limits_1^RS_3(r)[1-e^{-rt}]r^{-2}dr\,.$$

We conclude from this computation and (3.14) that

$$\lim_{t \to 0} \sum_{0 < |m| \leqslant t^{-1}} a_m [1 - e^{-|m|t}] = 0.$$



Next, we observe that

$$\sum_{R<|m|} a_m e^{-|m|t} = -S_3(R) R^{-1} e^{-Rt} + t \int_R^\infty S_3(r) e^{-rt} r^{-1} dr + \int_R^\infty S_3(r) e^{-rt} r^{-2} dr.$$

We conclude from this computation and (3.14) that

(3.16)
$$\lim_{t\to 0} \sum_{t-1<|m|} a_m e^{-|m|t} = 0.$$

Since by hypothesis, $\lim_{t\to 0}\sum_{m\neq 0}a_me^{-|m|t}=\alpha,$ we obtain from (3.15) and (3.16) that

$$\lim_{t\to 0}\sum_{0<|m|\leqslant t^{-1}}a_m=a,$$

and the proof to the lemma is complete.

We now proceed with the proof of the sufficiency condition of Theorem 1. If we can show

(3.17)
$$\lim_{t\to 0} \sum_{m=0} f(m) K(m) e^{i(m,x^0)} e^{-|m|t} = a$$

we are done. For

$$\begin{split} \sum_{m \neq 0} f^{\hat{}}(m) K^{\hat{}}(m) e^{i(m,x^0)} e^{-|m|t} \\ &= 2^{-1} \sum_{m \neq 0} [f^{\hat{}}(m) K^{\hat{}}(m) e^{i(m,x^0)} + f^{\hat{}}(m) K^{\hat{}}(-m) e^{-i(m,x^0)}] e^{-|m|t}. \end{split}$$

Consequently it would follow from (1.7), (3.17), and Lemma 1 that

$$egin{aligned} &\lim_{R o\infty} \sum_{1\leqslant |m|\leqslant R} f^{\hat{}}(m) K^{\hat{}}(m) e^{i(m,x^0)} \ &= \lim_{R o\infty} 2^{-1} \sum_{1\leqslant |m|\leqslant R} \left[f^{\hat{}}(m) K^{\hat{}}(m) e^{i(m,x^0)} + f^{\hat{}}(m) K^{\hat{}}(-m) e^{-i(m,x^0)} \right] = \alpha \end{aligned}$$

and the sufficiency condition of Theorem 2 would be established.

(3.17) however follows immediately once the following two lemmas are established.

LEMMA 2. Let f(x) and K(x) be as in the hypothesis of Theorem 1. Suppose

$$(3.18) \qquad \left[\lim_{R\to\infty}(2\pi)^{-N}\int\limits_{B(0,R)-B(0,\varepsilon)}f(x^0-x)K(x)\,dx\right]\to a \qquad as \quad \varepsilon\to 0$$

where a is finite-valued. Then

(3.19)
$$\lim_{r \to 0} r^{-N} \int_{B(0,r)} f(x^0 - x) |x|^N K(x) dx = 0.$$

Lemma 3. Let f(x) and K(x) be as in Theorem 1. Suppose (3.19) holds. Then

$$\begin{split} \lim_{t \to 0} \Big\{ \sum_{m \neq 0} f^{\hat{}}(m) K^{\hat{}}(m) e^{i(m,x^0)} e^{-|m|t} \\ - \lim_{R \to \infty} (2\pi)^{-N} \int_{B(0,R) - B(0,t)} f(x^0 - x) K(x) \, dx \Big\} &= 0 \,. \end{split}$$

(Note that in the above lemmas we are not assuming that condition (1.7) holds at x^0 .)

To prove Lemma 2, we let S(0,r) represent the (N-1)-sphere with center 0 and radius r and we let dS(x) represent its natural (N-1)-dimensional volume element. Then we define almost everywhere for r>0

$$h(r) = \int\limits_{S(0,r)} f(x^0 - x) K(x) dS(x).$$

Then h meets the conditions in the hypothesis of ([8], Lemma 7.23, p. 104). Consequently, $\int_0^r h(t)t^N dt = o(r^N)$ as $r \to 0$; (3.19) is established, and the proof to Lemma 2 is complete.

To establish Lemma 3, with no loss in generality we can assume $x^0 = 0$. Next for r > 0, we set

$$(3.20) g(r) = (2\pi)^{-N} \int_{B(0,r)} f(-x) |x|^N K(x) dx$$

and observe by assumption that

(3.21)
$$g(r) = o(r^N)$$
 as $r \to 0$.

Now from ([5], p. 64 and p. 67), we have that

(3.22)
$$\sum_{m} f^{\hat{}}(m) K^{\hat{}}(m) e^{-|m|t} = \lim_{R \to \infty} \int_{0}^{R} A_{n}^{r}(r|t) r^{-N} dg(r)$$

where v = (N-2)/2 and

$$(3.23) A_n^{r}(r) = \Gamma(n/2) \int_0^\infty e^{-s/r} J_{r+n}(s) s^{r+1} ds / 2^{N/2} \Gamma[(n+N)/2].$$

From ([5], p. 64), we also have that

$$(3.24) 0 \leqslant A_n^{\nu}(r) \leqslant 1 \text{for } r > 0$$

and

$$|A_n^r(r)| \leqslant \Gamma(N)r^N \quad \text{ for } r > 0.$$

Next, we set

(3.26)
$$A_n^{\nu}(r) = dA_n^{\nu}(r)/dr$$

and observe from the fact that $|J_{r+n}(s)| \leq s^r$ that $|A_n^{r'}(r)|$ is majorized by $r^{-2} \Gamma(n/2) \int\limits_0^\infty e^{-s/r} s^N ds / \Gamma[(n+N)/2]$. Consequently,

$$|A_n^{r'}(r)| \leq r^{N-1} \Gamma(n/2) \Gamma[N+1] / \Gamma[(n+N)/2].$$

Integrating by parts and using (3.26) we next obtain the following formula:

$$\begin{aligned} (3.28) \qquad & \int\limits_{r_{1}}^{r_{2}}A_{n}^{r}(r/t)r^{-N}dg(r) \\ & = g(r)A_{n}^{r}(r/t)r^{-N}|_{r_{1}}^{r_{2}} + \int\limits_{r_{1}}^{r_{2}}g(r)r^{-N}[NA_{n}^{r}(r/t)r^{-1} - t^{-1}A_{n}^{r'}(r/t)]dr. \end{aligned}$$

We conclude from (3.28), (3.21), (3.24), (3.25), and (3.27) that $\int\limits_0^t A_n^r(r/t) r^{-N} dg(r) = o(1) + o(1) \int\limits_0^t r^{N-1} t^{-N} dr = o(1) \text{ as } t \to 0. \text{ Consequently we have from (3.20) and (3.22) that the proof to the lemma will be complete once we show$

(3.29)
$$\lim_{t \to 0} \left\{ \lim_{R \to \infty} \int_{t}^{R} \left[A_{n}^{r}(r/t) - 1 \right] r^{-N} dg(r) \right\} = 0.$$

To establish (3.29), let $\eta>0$ be given. Using (3.21), choose $\delta>0$ such that

$$(3.30) |g(r)| < \eta r^N \text{for } 0 < r \leqslant \delta.$$

Next from ([5], p. 55), we see that there is a constant $b_{n,r}$ (depending on n and r) such that

$$|A_n^r(r) - 1| \leqslant b_{n,r} r^{-1/2} \quad \text{for } r \geqslant 1.$$

Consequently, we have from (3.20) and (3.31) that

$$\begin{array}{ll} (3.32) & \Big| \lim_{R \to \infty} \int\limits_{\delta}^{R} \left[A_{n}^{*}(r/t) - 1 \right] r^{-N} dg(r) \Big| \\ & \leqslant (2\pi)^{-N} b_{n,r} t^{1/2} \int\limits_{E_{N} - B(0,\delta)} |f(-x)| |K(x)| |x|^{-1/2} dx \, . \end{array}$$

But the integral on the right hand side of the inequality in (3.32) is finite. Therefore the expression on the left hand side of the inequality in (3.32) is o(1) as $t \to 0$. We conclude from this fact, (3.24), (3.28), and (3.30) that (3.29) will be established once we show

$$(3.33) \qquad \limsup_{t \to 0} \Big| \int\limits_{t}^{\delta} g(r) r^{-N} \{ N[A_{n}^{r}(r/t) - 1] r^{-1} - t^{-1} A_{n}^{r'}(r/t) \} \, dr \Big| \leqslant c \eta$$

where c is a constant independent of δ .

From (3.30), we have that (3.33) will follow once we show both

$$\limsup_{t\to 0}\int\limits_t^\infty |A_n'(r/t)-1| r^{-1}dr<\infty$$

and

$$\limsup_{t\to 0} t^{-1} \int\limits_t^\infty |A_n^{r'}(r/t)| \, dr < \, \infty.$$

From (3.31), we have that

$$\int\limits_{t}^{\infty} |A_{n}^{r}(r/t) - 1| r^{-1} dr \leqslant b_{n,r} \int\limits_{1}^{\infty} s^{-3/2} ds \, ,$$

and (3.34) is established.

We next establish (3.35). From (3.23) and (3.26), we see that for $n \ge 2$, $A_n^{r'}(r)$ is a constant multiple of $A_{n-1}^{r+1}(r)/r^2$. But then from (3.24), we have

$$|A_n^{r'}(r)| \leq constant/r^2 \quad \text{for } n \geq 2.$$

On the other hand, for n=1, we see from (3.23) that $A_1^{r'}(r)$ is a constant multiple of $\int\limits_0^\infty e^{-s/r}J_{r+1}(s)s^{r+2}ds/r^2$. We conclude from ([7], p. 386) that

$$|A_1^{\nu'}(r)| \leqslant \operatorname{constant}/r^3.$$

(3.35) follows immediately from (3.36) and (3.37), and the proof of Lemma 3 is complete.

References

- S. Bochner, Harmonic analysis and the theory of probability, Berkeley and Los Angeles 1960.
- [2] G. H. Hardy, Divergent Series, Oxford 1949.
- [3] and J. E. Littlewood, Two theorems concerning Fourier series, J. London Math. Soc., 1 (1926), pp. 19-25.
- [4] V. L. Shapiro, Spherical convergence, bounded variation, and singular integrals on the N-torus, J. Approximation Theory, 4 (1971), pp. 204-217.
- [5] Topics in Fourier and geometric analysis, Mem. Amer. Math. Soc. No. 39, Providence 1961.
- [6] Fourier series in several variables, Bull. Amer. Math. Soc., 70 (1964), pp. 48-93.
- [7] G. N. Watson, A treatise on the theory of Bessel functions, Cambridge 1962.
- [8] A. Zygmund, Trigonometric Series, Vol. I, Cambridge 1959.

UNIVERSITY OF CALIFORNIA RIVERSIDE



The range of a random function defined in the unit disk

b

A. C. OFFORD (London)

To Antoni Zygmund

Abstract. This is a continuation of the investigation begun in 'The distributiou of the values of a random function in the unit disk', Studia Mathematica 41 (1972). A family of domains is defined such that all members of the family are congruent and have the following properties. Each point $e^{i\theta}$ on the unit circumference is the apex of a member $\mathcal{D}(\theta)$ of the family and the closure of $\mathcal{D}(\theta)$ less its apex lies entirely within the unit disk. It is then shown that almost all functions of the family considered have the property that in every \mathcal{D} their range at the apex of \mathcal{D} is the complex plane.

§ 1. Introduction. This paper like an earlier one is concerned with the behaviour of a power series whose coefficients are random variables. As in the previous paper [3] we shall for the most part restrict ourselves to the Steinhaus family

(1.1)
$$f(z, \omega) = \sum_{n=0}^{\infty} e^{2\pi i \theta_n(\omega)} a_n z^n$$

where the $\vartheta_n(\omega)$ are independent random variables uniformly distributed on the unit interval. We suppose that

$$\limsup_{n\to\infty} (|a_n|)^{1/n} = 1$$

and

$$(1.3) \sum_{n=0}^{\infty} |a_n|^2 = \infty.$$

In the last paragraph we shall discuss various extensions of our results to other probability distributions.

It was shown in [3] that almost all functions of (1.1) take every value infinitely often in every sector of the unit circle. This result can conveniently be expressed in terms of the notions of cluster set and range (cf. [1] pp. 1 and 7). The cluster set of a function f at a point z_0 is defined as the set of values ζ such that to each ζ there exists a sequence $\{z_n\}$ such that $f(z_n)$ tends to ζ as z_n tends to z_0 . The range of f at z_0 is defined as the set of values ζ such that to each ζ there exists a sequence $\{z_n\}$ such that z_n tends to z_0 and $f(z_n) = \zeta$. It follows from the above result that